. Quiz General Chemistry I Lecture Spring 15 Dr. Hahn 20 pts 3/26 R 8_:.30am form A quiz# _

Name _ /(’ ol __ Name
(print name) _ —d ‘ : (sign" name)

~ Please show all work for full credit and for partial credit. { Pt = Pa+ Pb+Pc+ Ka=Pa/ Ptotai Na/ Mol f .
- {PV—nRT (Pivl)/(P2V2)—T1/T2 R=0.08206 (L atm)/(mol K), K="C+273. 15} molar V at STP =224 Liters -

1. Complete the followmg acxd base reactlon Reactlon does not need to be balanced ( 6 pts)

H..Cl_(aq) + ca(c}nz (éci) > C&L(j?f i L 2/%/1 'D |

2. For the following reagent, give the ox1dat10n state of the element hsted E;ther explam why or show -
work for your 0x1dat1on state number answer. ~ (8 pts, 4 pts each)

Na H CO;  Whatis the 0x1dat1on state.of Na in the molecule . W :ﬁ /
Kﬁ\\/’?, - |
A \ What is the oxidation state of C in the molecule +

.(Jr%t +Ct 5@?) -9 ":_ ff(féf ‘”Z/
o ity @ f cwe Cote

3 Ifyou have a‘gas in a cylinder with a volume of 7.998 Liter at 29 3°Catl.l atm and then change the
cylinder conditions to have a new volume of 2.305 Liter at 35.2 °C, what is the new pressure in your -

cyha:lerv (6 pts) UZ’ 2, }@5}1 T2 ;; ) C,+L'7;/5 5 5§ [ Fz,
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Extra Credi (2 ots) 1 If .he O3 has a pressure ofK).37 ati he gas in a cylinder hasoher ases in the
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Quiz ?General Chemistry I Lecture Spring 15 Dr. Hahn 20 pts 3/26 R 8:30am form B quiz #

Name U<Q,st Name

(print name) Z/ (sign name)

Please show all work for full credit and for partial credit. { Protat = Pa+ PotPct....%a = Po/Potal=Na/ Dtotal } -~
{PV=nRT, (P;V)}/(P2V2)=T1/T2 R=0.08206 (L atm)/(mol K), K=°C+273.15} molar V at STP =22.4 Liters

1. Complete the following ‘acid base reaction. Reaction does not need to be balanced.( 6 pts)

H NO;(aq) + Na OH (aq) > d},/d A/{!Iz)?, + % O

2. For the following reagent, give the oxidation state of the element listed. Either explain why or show
work for your oxidation state number answex. (8 pts, 4 pts each)

T
NO What is the ox1dation state of the N in the molecule Z ’!

f\/+5(~—?_)¢ -
V= —| b =

What is the oxidation state of the O (oxygen) ““Z,
%9“# - = ('o*'é}:yg/

3 . Ifyouhave 3.4 moles of a gas at 2782 K at 788 mm Hg 3ressure what volume doe jtze gas

occupy? (6 pts) ﬁD\/” N QZ/T —r C / C)(({ﬂ%"\ Y TN d(ZZP
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Atténdance for 3/24/15 Tuesday: Give at least one gas lj?equation given during the videos 7 V:’- O 7

PVENT b T

eV

Extra Credit (2 pts) : If you have 2 gases in a gas cylinder and one of the gases has pressure of 725 mm Hg
and the other gas has pressure of 82.3 mm Hg what is the pressure of the gases in the cyclinder ?

Pegat = Pt G

Pl = NS rmmlig 5215 rvm é)g)/;; %?Q%l}m




Quiz% General Chemisiry [ Lecture Spring 15 Dr. Habn 20 pis 3/26 R 9:55am form A quiz #

Name 1/ d’,{/\/ ' - ' ‘Name
(print name) d - _ " (sign name)

~ Please show all work for full credit and for partial credit. { Protal = Pzt Pb+Pc+ = Pa/ Ptotal = na / 1 totat } :
{PV=nRT, (P1V1)/(P2V2)=T/T2 R=0.08206 (L atm)/(mol K), K=°C+273. 15} molar Vat STP 22.4 Liters

L For the rediction shown below if you start with 32.5 mL of H Br of concentratlon of 0.500M -

solution and titrate it with Ca (OH)2 of concentration of 0.250 M, how many. mL of NaOH will you
need at the equwalence point 7' (do not use the equation glven here: Madeacrd = Mbase Vbase) (6 pts)

2HBr +. Ca(OH)z% CaBr; + 2H20 e , 1
i il G, Cfg(?li)g

f?*-”-‘-@/z ) T Grsord

| C&(ULP)L

%1 < waéom

2 For the following reagent give the oxidation state of the element hsted Elther explam why or show
work for your ox1dat10n state number answer. (8 pts, 4 pts each) '

HzSO4 . What is the 0x1dat1on state of the S in the molecule . i é

2l 5 YD=0 S=- +<;> +L
. What is the oxidation state of theHm the molecuie :t: l

ﬂ b twﬁl 4 +D

'3 If you have Nz (FW 28.02g/ mol) and you have 78.7 grams of the gas, what is the volume at
STP ?: (6 pts)

qz?’ g Wy o sl _&Eﬁéﬂ- 619 4
2919 | rrsf Ny
| : Ny |

Attendance for 3/24/15 Tuesday: What is the color of the background in the youtube Vzdeo ?

ovee, - — 0

Extra Credit (2 pts) : If you have 785.2 torr of a mixture of gases and you know pressure the Ne in the
mixture is 75.2 torr, what is mole fraction of the the Ne in the total gas mixture ?

X = %39\/¢ _ %7 —
R PR F ] N 0.0455



Quiz%General Chemistry I Lecture Spring 15 Dr. Hahn 20 pts 3/26 R 9:55 am form B quiz #

Name t QL\ Name

(print name) 7 (sign nare)

Please show all work for full credit and for partial credit. { Prow = Pa + PotPet....%a = Pa/ Prowl = Da/ 1 total }
{PV=nRT, (P1V1)/(P2V2)=T/T> R=0.08206 (L atm)/(mol K}, K=°C+273.15} molar V at STP = 22.4 Liters

'1. For the reaction shown below, if you start with 2 0.125 M Ba(OH), and pour 50.0 mL into a beaker
and titrate it with 75.5 mL what is the molarity of the H NOs (aq) solution? (do not use the equation
glven here: MacidVacid = Mbase mee) (6 pts)

2 HNO3 + Ba(OH)z - 2H0 Ba(NOsh

SOOW\-@ O |2S el ﬁﬂ(ﬁy) v &/\/a!/f/ddf - 0{0/25\
Galowr  (opbml ba(ow). el alw, ¥ sl

= ©O0EShel 0./¢C m
?»fﬂiﬁﬁiv)

‘2. Forthe followmg reagent, give the oxidation state of the element listed. Either explain why or show
work for your oxidation state number answer. (8 pts, 4 pts each)

PO What is the oxidation state of the P in the molecule { i

pratr) = =5 5 0= Z+5= )

What is the oxidation state of the O (oxygen) in the molecule —L

3 if you have 17.7 grams of He gas (FW = 4.00 g/mol), what volume will the gas occupy at STP ? (6 pts)

114 M;_lié J:,Zﬂ 499
no 7 x &DD& %e tte

. Attendance for 3/24/15 Tuesday: According to the youtube video, will you have to do the derivation of the
molar mass equation derived from the PV =nRT on a quiz or exam ? [(yes) or @ {circle one)

Extra Credit (2 pts) : [ ‘the mole fraction of Ha in a gas mixture is 0.87 and the pressure of the total gas

XL& . Py 0,9 = ﬂ‘;ﬁ}:j f (Oi(?/))a&}sf)
f cplod | [, &4 00’4; Cdb



Quiz IV General Chemistry I Lecture Spring 15 Dr. Hahn 20 pts 3/26 R 8:30am form A quiz # i ~ }

Name Name
(ptint name) (sign name)

Please show all work for full credit and for partial credit. { Piowt = Pa+ PytPet....%a = Pa/ Piotat = Na / 0l torat }
{PV=nRT, (P\V1)/(P2V2)=T/T2 R=0.08206 (L atm)/(mol K), K=°C+273.15} molar V at STP =22.4 Liters

1. Complete the following acid base reaction. Reaction does not need to be balanced.( 6 pts)

HCl(aq) + Ca(OH) (aq) > +

2. For the following reagent, give the oxidation state of the element listed. Either explain why or show
work for your oxidation state number answer. (8 pts, 4 pts each)

Na H CO3 What is the oxidation state of Na in the molecule

What is the oxidation state of C in the molecule

3. If you have a gas in a cylinder with a volume of 7.998 Liter at 29.3 °C at 1.1 atm and then change the
“cylinder conditions to have a new volume of 2.305 Liter at 35.2 °C, what is the new pressure in your
cylinder ? (6 pts)

Attendance for 3/24/15 Tuesday: Mostly whose books are in the back of the room in the announcement
video ?

Extra Credit (2 pts) : I the Oz has a pressure of 0.37 atm and the gas in a cylinder has other gases in the
same cylinder at pressure of 1.33 atm, what is the pressure of the other gases ?



Quiz IV General Chemistry I Lecture Spring 15 Dr. Hahn 20 pts 3/26 R 8:30am form B quiz # 2»"(5

Name Name
(print name) (sign name)

Please show all work for full credit and for partial credit. { Piowt = Pa + PutPet....%a = Pa/ Protal = Da / 1 total }
{PV=nRT, (P1V1)/(P.V2)=T1/T2 R=0.08206 (L atm)/(mol K), K="C+273.15} molar V at STP =22.4 Liters

1. Complete the following acid base reaction. Reaction does not need to be balanced.( 6 pts)

HNO3(aq) + NaOH (aq) 2 +

2. For the following reagent, give the oxidation state of the element listed. Either explain why or show
work for your oxidation state number answer. (8 pts, 4 pts each)

NO;'! What is the oxidation state of the N in the molecule

What 1s the oxidation state of the O (oxygen)

3 If you have 3.4 moles of a gas at 278.2 K at 788 mm Hg pressure, what volume does the gas
occupy? (6 pts) :

Attendance for 3/24/15 Tuesday: Give at least one gas law equation given during the videos ?

Extra Credit (2 pts) : If vou have 2 gases in a gas cylinder and one of the gases has pressure of 725 mm Hg
and the other gas has pressure of 82.3 mm Hg, what is the pressure of the gases in the cyclinder ?



Quiz IV General Chemistry 1 Lecture Spring 15 Dr. Hahn 20 pts 3/26 R 9:55 am form A quiz # %

Name Name ‘ Z =~/ é %

(print name) (sign name)

Please show all work for full credit and for partial credit. { Pota = Pa+ PotPet....%a = Pa/ Piota = 0o/ 1 toral }
{PV=nRT, (P V1)/(P2V2)=T1/T2 R=0.08206 (L atm)/(mol K), K="C+273.15} molar V at STP = 22.4 Liters

1. For the reaction shown below, if you start with 32.5 mL of H Br of concentration of 0.500 M
solution and titrate it with Ca (OH)z of concentration of 0.250 M, how many mL of NaOH will you
need at the equivalence point ? (do not use the equation given here: MaciaVacid = MbaseVbase) (6 pis)

2HBr + Ca(OH) 2> CaBn + 2H0

2. For the following reagent, give the oxidation state of the element listed. Either explain why or show
work for your oxidation state number answer. (8 pts, 4 pts each)

HaSO4 What is the oxidation state of the S in the molecule

What is the oxidation state of the H in the molecule

3 If you have N2 (FW = 28.02 g / mol) and you have 78.7 grams of the gas, what is the volume at
STP ? (6 pts)

Attendance for 3/24/15 Tuesday: What is the color of the background in the youtube video ?

Extra Credit (2 pts) : If you have 785.2 torr of a mixture of gases and you know pressure the Ne in the
mixture is 75.2 torr, what is mole fraction of the the Ne in the total gas mixture ?



Quiz IV General Chemistry I Lecture Spring 15 Dr. Hahn 20 pts 3/26 R 9:55 am form B quiz # ( _(O

Name Name
(print name) (sign name)

Please show all work for full credit and for partial credit. { Piotat =Pa+ PutPet....%a = Pa/ Pioal = na / 0 total ¥
{PV=nRT, (P1V1)/(P2V2)=T1/T2 R=0.08206 (L atm)/(mol K), K=°C+273.15} molar V at STP = 22.4 Liters

1. For the reaction shown below, if you start with a 0.125 M Ba(OH): and pour 50.0 mL into a beaker
. and titrate it with 75.5 mL what is the molarity of the H NOs {(aq) solution? (do not use the equation
given here:  MacidVacid = Mbase Viase) (6 pts)

2 HNO3 + Ba(OH): 2 2HxO Ba(NOs)

2. For the following reagent, give the oxidation state of the element listed. Either explain why or show
work for your oxidation state number answer. (8 pts, 4 pts each)

PO4? What is the oxidation state of the P in the molecule

What is the oxidation state of the O (oxygen) in the motecule .

3 If you have 17.7 grams of He gas (FW = 4.00 g/mol), what volume will the gas occupy at STP ? (6 pis)

Attendance for 3/24/15 Tuesday: According to the youtube video, will you have to do the derivation of the
molar mass equation derived {rom the PV =nRT on a quiz or exam ? [(yes) or (no)] (circle one)

Extra Credit (2 pts) : If you the mole fraction of Hz in a gas mixture is 0.87 and the pressure of the total gas
is 1.89 atm, what is the pressur of Ha in atmosphete ?



